
Pr ice Riv alry

Your team is one of two seller s of a homogeneous, unbranded
commodity. We assume that buyer s aut omatically buy from the seller
wit h the low est price. If both seller s ask the same price, then the
buyer s will split their purchases equall y between the two seller s.

The following table shows Indus try Demand, how much can be sold in
total:

Price Quantity Sales Revenue

$9 0 $0
$8 1 $8
$7 2 $14
$6 3 $18
$5 4 $20
$4 5 $20
$3 6 $18
$2 7 $14
$1 8 $8
$0 9 $0
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So if you price at $4 and the other team at $5, then you make all the
sales, to sell 5 units with a sales revenue of $20. There is an average
cos t of $2 per unit, so that your profit will be $20 − 5 × $2 = $10. The
aim of the exercise is to maximise your tot al profits over the periods.

Each period your team and the other selling team will simultaneousl y
choose a price to ask of buyer s, wit hout communicating with the
ot her team. Write your price down. You have 30 seconds to decide
on your price. As soon as both teams have submitt ed a price, the
paper s are collect ed, the prices announced, and the instr uctor will
calculat e your team’s profits and the profits of the other team for that
per iod, and will writ e both out on the overhead.

There will be one practice round to make sure everyone underst ands
how the inter action work s.

Then we shall keep repeating the above process until the instr uctor
announces the end of the inter action. Your profits will be tot alled
ov er the periods of inter action.
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Profits

Team 1 Team 2 Team 1 Team 2 Team 1 Team 2 Team 1 Team 2 Team 1 Team 2 Team 1 Team 2
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The Two Haulier s

The players are the presidents of two competing truc king companies. They
can choose to send their truc ks along normal rout es or risky rout es. The risky
rout es are winding, mountainous roads that cut down on trav el time if there is
little traf fic, but if other truc king fir ms begin to use them, then they are ver y
unprofit able. Normal rout es ent ail less risk and typically lead to moder ate
financial retur ns when you both use them..

R o u t e  P r o f i t ($)

You Other Fir m You Other Fir m

nor mal nor mal 200,000 200,000
risky normal 600,000 −100,000

nor mal risky −100,000 600,000
risky risky −400,000 −400,000

You are bot h aw are of the risky and normal rout es. You bot h know too that
you bot h know them. You cannot collude with each other, since that ’s illeg al.
You lear n which rout e the other firm has taken soon after you ’ve chosen
(ir reversibl y) your rout e.

a. Draw up the 2 × 2 pay off matr ix for this inter action.

b. In your designated team, play repeat edly, after one practice round.
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